After selecting Body, visualize that you are standing at the center of a 12 hour clock face and the
vertical circle from your zenith passing through Body 4 intersects the horizon at the 12 o'clock
position. Select Body, from a vertical circle that intersects the horizon at or near the 8 o'clock
position and Body; from a vertical circle that intersects the horizon at or near the 4 o'clock
position, this will produce the optimum crossing angles at the intersection of the 3 circles
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Enter data into yellow cells

GHA of Body|
DecofBody|  18|deg. [ 153min. [ N | =]
Ho of Body;

sight Log ID Body,is|__W | of the observer

GP of Body; Lat18°15.3'N Lon 167° 16.1'W

Bodyzis[ S | of the observer
GP of Body, Lat11°10.8'S  Lon 102° 11.6'W

Radius of the Gircle of Equal Altitude 2782 n. mi. Radius of the Gircle of Equal Altitude 3733 n. mi.

Observer's position determined from
the intersections of Circles of Equal Altitude

[~ ]
[w ]

Observer's Latitude |  48/deg. |  8.5/min

Observer's Longitude | 123|deg. | 22.5/min

Qalact Intarcactinne tn llea in Calelatinn Fiy

tude in nautical miles is 80x(90° - Ho). When three bodies are observed, the three
Equal Altitude will have six intersections. Select Intersections to Use in Calculating Fix

Body; ARCTURUS

Three Body Fix Using Intersections of Circles of Equal Altitude

Day Month Year

Date @ Greenwich] 13 | 5 | 2003 |
oMt 42413 |

Dec of Body;| __19]deg.

Bodyis[__SE | of the observer

GP of Body; Lat19°09.9'N Lon 88° 31.8'W

Radius of the Gircle of Equal Altitude 2422 n. mi.

Observer

M —

If the sights were "accurate", three of the intersections listed below will be at or near the observer's geographic position.

Intersection 1 Intersection 3

Use Intersection 1 in Calculating Fi: Use Intersection 3 in Calculating Fix

Intersection 5

Use Intersection 5 in Calculating Fi

Lat deg.

Body; & Body, sazs .

Lon [ 123|deg.

Intersection 2 Intersection 4

Use Intersection 4 in Calculating Fix
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Body, & Body: Body; & Body;

Lon deg.

Intersection 6

Use Intersection & in Calculating Fix
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Body; & Body:




